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Skating Party

DIRECTIONS: Wse the clues o enter the correct cugks, In the cduss, "A" means across
and “I means dorwn, For example, “1-D™ would refer to clus number 1 DOWEH. Each
giguara takeas a gungle dagid from 0 throwgh 9. Mo aneswer bagm e wath 0.

Lact evening, Richard, Stephen, and Tania, three teenagers of diferert ages,
went to a roler-skating party held by the young people’s chab of therr chnareh. They
weren't expert skaters, but they had fan even though they each fell at least once.
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1. Times Stephen fell 1. 7T-Ax4

2 Stephen's age 2, Times Tarmnia fell

4. Age of James, RBichard's fathey 3 Exz-A

6. IMumber of zisters Richard has 5 BRichard's age

7. Product of 10-A amd sum of 2-A 8. Age of Btephen's Great- aumt
and 3-D hlartha

8. Age of Slowpoke, Tania's pet 11. 2-Ddivided by 7
turtle

10 Tarda's Age
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